CMS Simulation Supplementary

gg - HH-wbb £ =0 T =1
Relative efﬁCiency E_ vY ) \ A / _;;_ \ A / v vY _;

of m,,, <350 GeVt + 3

Eff. = #LM / (#HM + #LM) 3 3 :

2 A 4 \ 4 VVIVVY VvV VV:

Vi%-20% @20%-40% | £ i 3
40% - 50% A\ 50% - 80% : vy v vy :VV v VVE

1.3+ t + 3
12;_VV A 00 i V A A ® I AA A @
L1
1+ VY A o0 Vv A 0 0.4 A 00 -
0.9 - £ :
0.8 2 + 3
i YY A G60:VY A @0 VA A 00
14 =-10 1 K=-15 f K=-20 1
1.3 - + s
12;_.‘ AOG®: 00O A A 00 A A
1.1F
- ® @ Vieae A O® 00 A A
0.9
0.8 i + .
0.75_00 VVE_.. V_E_O. A.—f
T S S

C



	Contents
	Page 1


